ROLE OF MIDDLEMEN WITH COMPLEX PRODUCTION

ROLE OF SPECTULATORS WITH COMPLEX PRODUCTION

WE HAVE DESCRIBED A PRODUCER’S BEST OUTPUT DECISION

CONTINUE TO INCREASE OUTPUT AS LONG AS PRICE (BENEFIT) EXCEEDS MARGINAL COST (AND PRICE EXCEEDS AVERAGE COST)

OUR PRODUCERS THEREFORE ACT AS IF THEIR OUTPUT DOES NOT IMPACT THE PRICE

THEY ARE ACTING AS  PRICE TAKERS
FACING A “PERFECTLY ELASTIC” DEMAND

CAN SELL AS MUCH OR AS LITTLE AS PRODUCER WANTS AT THE MARKET PRICE

BUT DEMAND IS NEGATIVELY SLOPED??

MORE CAN BE SOLD ONLY AT A LOWER PRICE

WHEN DOES IT MAKE SENSE FOR A PRODUCER TO ACT LIKE A PRICE TAKER??

CONSIDER THE SALE OF WHEAT

ELASTICITY IS ABOUT -1

THERE ARE ABOUT 100,000 SELLERS EACH SELLING 50,000 BUSHELS (5,000,000,000 TOTAL) AT A PRICE OF $5.

WHAT WILL HAPPEN TO THE PRICE IF A PRODUCER CONSIDERS DOUBLING OUTPUT??

PERCENTAGE CHANGE IN TOTAL OUTPUT =


(50,000/5,000,025,000) = .00001 = 1/10,000 %

REQUIRES A 1/10,000% REDUCTION IN PRICE

NEW PRICE IF PRODUCER DOUBLES OUTPUT =


.99999 x $5.00 = $4.99995  (-$2.50 FOR 50,000bu)

EFFECTIVELY A WHEAT SELLER IS A PRICE TAKER

GENERAL CONDITIONS


1.  LOTS OF SELLERS


2.  SELLING VERY SIMILAR GOODS


3.  TO BUYERS WITH KNOWLEDGE OF OPTIONS

CONSIDER THE NUMBER OF SELLERS

FIVE WHEAT SELLERS EACH SELLING 50,000

IF ONE DOUBLES OUTPUT THEN PERCENTAGE CHANGE IN QUANTITY = 50,000 \ 275,000 = 18.2%

PRICE WILL FALL TO ~ 82% x $5.00 = $4.10

WHICH MEANS THE REVENUE CHANGE WILL BE 

(100,000 bu x $4.10 = $410,000  MINUS $250,000 =)
$160,000  (RATHER THAN $250,000)

A SUCCESSFUL PRODUCER BETTER TAKE INTO ACCOUNT THE FACT THAT THEIR OUTPUT EFFECTS THE PRICE.  TO SELL MORE, PRICE WILL FALL

CONSIDER THE WAYS IN WHICH SELLERS’ GOODS DIFFER

MILLER IS NOT EXACTLY THE SAME AS BUD

- INCREASE PRICE 50 CENTS PER 6 PACK AND ONLY

  SOME MILLER DRINKERS WILL SWITCH

- MILLER FACES A “DOWNWARD SLOPING DEMAND”

- IF THEY WANT TO SELL MORE, THEY MUST LOWER   

  THE PRICE

SAFEWAY ON 50TH IS A LOT FURTHER FROM MY HOME THAN QFC ON 145TH.

CONSIDER THE EFFECT OF BUYER’S IN-COMPLETE KNOWLEDGE OF ALTERNATIVES (QUALITY AND PRICE)

YOU WANT TO BUY A GE COFFEE MAKER.  YOU FIND ONE AT RITE AID FOR $30.  SHOULD YOU BUY??

IF RITE AID RAISES PRICE, IT LOSES ONLY THOSE CONSUMERS WHO BELIEVE THERE IS A BETTER DEAL AVAILABLE (GIVEN THE COST OF ADDITIONAL SHOPPING)
RITE AID FACES A DOWNWARD SLOPING (RATHER THAN A FLAT - PERFECTLY ELASTIC - ) DEMAND

NEARLY ALL RETAIL SELLERS MUST LOWER PRICE TO SELL MORE AND WILL LOSE ONLY SOME SALES IF THEY RAISE PRICE

